Varo BK

Partavling 2019-05-13

Partavling, 4 bord, 8 par. Antal brickor: 28. Medel: 84.0.

Plac Par Poang % Namn MID Klubb

1 8 96 57.14  Bengt Bylund - Ingemar Hjalmarsson 4878 7679  Varo BK

2 6 95 56.55 Lars Stenberg - Bengt Bengtsson 52107 19714 Vérd BK - BK Albrekts

3 1 92 54.76  Britt Cufiat - Morgan Larsson 7921 2752 Varo BK

4 2 90 53.57  Christer Larsson - Dennis Svensson 39930 84029 Asa/Frillesés BK - Varo BK

4 4 90 53.57 Mats Persson - Gunvor Bengtsson 88863 19715 Véard BK - BK Albrekts

6 3 81 48.21  Christer Storm - Arne Svensson 4266 4267  Varo BK

7 5 65 38.69  Lennart Berglund - Tomas Strom 26496 32394 Var6 BK

8 7 63 37.50 Lennart Johansson - Sven Lilja 26463 4263  Vard BK
1 Nord Ingen 2 OstNS 3 Syd OV 4 Vast Alla
Par Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poéang
42 3NN= &9 400 6.000(81 4vV-1 48 50 6000|65 3y N-2 #8 -100 6.000(65 5¢ O-1 &5 100 6.0 0.0
73 2NN+1 9 150 4.020|4 2 44DS-1vA -200 4020|733 4640= v9 -130 402081 3vS-1 48 -100 4.0 20
65 INN+1 #3 120 105.0(73 49y 0= 46 -420 2040|811 44V+1l v7 -150 2.04.0|7 3 3¢ O+1 vT -130 2.0 4.0
81 2NN= &5 120 1.050(65 4vO+1 ¢5 -450 006.0|42 44DO=9v7 -710 006.0(4 2 44 O= &5 -620 0.0 6.0
5 Nord NS 6 Ost OV 7 Syd Alla 8 Vst Ingen
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
82 64N+l ¢v3 1390 6.000(8 2 3#V-2 4K 200 6000|114 3NN= ¢4 600 6.000(82 INS+1 v3 120 6.00.0
53 3NS+2 v2 660 4.020(14 3¢ N= ¢4 110 204.0|53 2NN= 46 120 402014 INN= T 90 4.020
14 64N-1 ¢9 -100 1.050(53 2¢ N+1 #J 110 2040(76 3NN-1 &T -100 1.05.0|53 2&N-1 vJ -50 2.0 4.0
76 5¢ N-1 49 -100 1.050(7 6 24 N= &J 110 204082 3NN-1 3 -100 1.050(76 3¢ S-2 vK -100 0.0 6.0
9 Nord OV 10 Ost Alla 11 Syd Ingen 12 Vast NS
Par Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poéang
64 3NV-1 vJ 100 6.000(17 44 O+1 &7 -650 4020(17 3NN-2 v2 -100 402017 INO-2 #K 100 6.00.0
25 34S-1 +Q 50 4020|225 54 0= ¢A -650 4020(25 3NN-2 ¢3 -100 4020(|25 INV-1 #4 50 3030
83 3¢ 0= &K -110 2040(8 3 44 O+1 &7 -650 40206 4 3NN-2 v4 -100 40206 4 44V-1 5 50 3.030
17 3NV= v5 -600 0060(6 4 54DS-344 -800 0060(83 64N-4 ¢T -200 006.0|83 1s4V+1l ¢3 -110 0.0 6.0
13 Nord Alla 14 Ost Ingen 15 Syd NS 16 Vast OV
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
84 2vS+2 ¢2 170 6.000(21 3NN+3 4Q 490 4020(21 24 O+1 #A -140 303.0(75 INN+2 ¢6 150 6.0 0.0
21 2vS-1 #Q -100 4020(36 3NN+3 8 490 4020|336 24 O+1 #K -140 3.03.0|2 1 INS+1 42 120 4.02.0
36 44V= K -130 2040|75 5NS+1 v3 490 4020|75 24 O0+1 #K -140 3.03.0(3 6 2NN-1 +6 -50 1.0 5.0
75 4vS-2 42 -200 006.0|84 3NN+2 4J 460 006.0|84 24 O+1 #K -140 3.03.0(8 4 INN-1 ¥5 -50 1.0 5.0
17 Nord Ingen 18 Ost NS 19 Syd OV 20 Vast Alla
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poéang
85 2NS= vK 120 6.000(47 2v O+2 #2 -170 6.00.0(4 7 44 S+1 &5 450 6.000(16 44 N+2 #8 680 5.0 1.0
32 2NS-1 v8 -50 3030|185 3y O+2 4aQ -200 4020(16 44 S= &5 420 2040|47 44 N+2 v3 680 501.0
47 3¢ S-1 vK 50 3.030|16 4vV= &2 420 1.050(3 2 44S= &7 420 204.0|85 3NS+2 #9 660 20 4.0
16 3#S-2 vA -100 006.0(3 2 4vO= 49 -420 1.050(85 44 S= &5 420 204.0|32 3NN+1 #2 630 0.06.0
21 Nord NS 22 Ost OV 23 Syd Alla 24 Vast Ingen
Par Kontr Ut Res Poéng |Par Kontr Ut Res Poéng |Par Kontr Ut Res Poéng |Par Kontr Ut Res Poang
86 3¢ 0-2 v8 100 6.000(27 2NV+2 vJ -180 6.00.0|8 6 24 N+1 ¢J 140 6.000|8 6 3NN+1 ¢4 430 6.00.0
27 3y N-1 ¢v9 -100 204.0(4 3 464 V= T -620 3.03.0|27 24 N= 47 110 402027 3NN= &3 400 3.030
43 3vS-1 ¢7 -100 204.0|8 6 44 0= vQ -620 3.03.0|4 3 24 N-1 +J -100 2.04.0|4 3 3NS= 47 400 3.03.0
51 3vS-1 4A -100 2040|51 44 O+1 ¢T -650 0.06.0|51 24 N-2 ¢J -200 0.06.0(51 2NN+2 #J 180 0.0 6.0
25 Nord OV 26 Ost Alla 27 Syd Ingen 28 Vast NS
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
62 INN+1 ¢5 120 6.000(3 1 44 N+1 vQ 650 6.00.0|87 2NS= ¢7 120 6.000(6 2 24 S= &K 110 6.00.0
54 24V-1 ¢Q 100 4020(54 44N= vJ 620 4020|62 24N= ¢K 90 4020|87 34S-1 vJ -100 4.0 2.0
31 INN= «A 90 1.050(87 5vDO-2¢T 500 204.0|3 1 INS-1 43 -50 1.050|31 3y O= ¢A -140 1.05.0
87 INS= 43 90 1050|622 14aN+1 v6 110 006.0|/54 3#N-1 ¢Q -50 1.050|54 3y O= &K -140 1.05.0
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